HW Λ Solution  $\int = \sqrt{\frac{1}{2} + \frac{1}{2}}$ EVI  $\frac{1}{7^2} \sqrt{\frac{x^2}{x^2 + 1^2}}$   $\frac{1}{7^2} \sqrt{\frac{y}{x^2 + 1^2}}$ Fy = un x ty Jury  $\begin{pmatrix} F_{r} \\ F_{\theta} \end{pmatrix} = \begin{pmatrix} p_{1} \\ p_{\chi} \\ p_{\chi} \\ p_{\chi} \\ p_{\eta} \end{pmatrix} \begin{pmatrix} F_{r_{\chi}} \\ p_{\chi} \\ p_{\eta} \\ p_{\chi} \\ p_{\eta} \end{pmatrix} \begin{pmatrix} F_{r_{\chi}} \\ p_{\chi} \\ p_{\chi} \\ p_{\chi} \end{pmatrix} \begin{pmatrix} F_{r_{\chi}} \\ p_{\chi} \\ p_{\chi} \\ p_{\chi} \end{pmatrix}$  $\left( \begin{array}{c} F_{r} \\ F_{r} \\ F_{r} \end{array} \right)^{-1} = \left( \begin{array}{c} \frac{\chi}{\sqrt{\chi^{2} + \sqrt{2}}} & \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} \\ + \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} & \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} \\ + \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} & \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} \\ + \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} & \frac{\gamma}{\sqrt{\chi^{2} + \sqrt{2}}} \\ \end{array} \right) \left( \begin{array}{c} M_{r} \chi \\ M_$  $\left( \begin{array}{c} F_{5} \\ F_{6} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{6} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim \theta \\ Sim \theta \\ F_{7} \end{array} \right)^{-1} \left( \begin{array}{c} m \theta \\ sim \theta \\ Sim$ 

of this pathes the only propose tedious exercise is to realize the covariant freatment importance of a the hagrangia in plujsics, like For realizin.

Double peuduleuen Exercise 2 The hagren from is  $L = \frac{1}{2} (m_1 + m_2) l_1^{2} \phi_1^{2} + \frac{1}{2} m_2 l_2 \phi_2^{2} + w_2 l_1 l_2 \phi_1 \phi_2 cn (\phi_1 - \phi_2)$ + len, + m2) glinder + m2 glz cndz the equations of motion can be Obtained noticing that we have two generalized coordinates \$, and\$2.  $\frac{\partial}{\partial f}\left(\frac{\partial L}{\partial \phi_i}\right) - \frac{\partial L}{\partial \phi_i} = 0$  $\frac{\partial}{\partial f} \left( \frac{\partial L}{\partial \phi_2} \right) - \frac{\partial L}{\partial \phi_2} = 0$ 

Exercise 3



$$d_{1}\left(\frac{2}{3\chi}\right) - \frac{3L}{3\chi} = 0$$

$$M[\dot{x} - Mgx] = 0$$

$$\ddot{x} - \omega^{2}x = 0 \qquad \omega = \sqrt{3/L}$$

$$-v \times (t) = A \cosh(\omega t) + Bsinh(\omega t)$$

$$\dot{x}(0) = 0 \qquad x(0) = l$$

$$-v A = l \notin B = 0$$

$$\int v(t) = l \cosh(\sqrt{3/L} t)$$



Exercise 5

The Lagrangian is additive. For two systems A&B for aports o they do not interact L-r= LA+LB

z) E-L equations do vot change if the bagrangian is analtypied by a constant. 3) A Lagrangian is only defined up to an additive total time derivative of a function of coordinates and time.

Exercise 6

Assume x=0 when t=0 freen C=0  $t_{f}$  t=t\_{a} when x=a Then  $a = A t_{a}^{2} + B t_{a}$   $And B = \left(\frac{a}{t_{a}} - A t_{a}\right)$ So  $x(t) = A t^{2} + \left(\frac{a}{t_{a}} - A t_{a}\right)t$ 



Exercise 7

You only have to calculate  $dx = dr cn \phi - r sin \phi d\phi$  $dy = dr sin \phi + r cn \phi d\phi$  $\chi = r \cos \phi$  $\gamma = s \sin \phi$ 7 = 2  $d_2 = d_7$ dx2+dq2= dr2 coig + r2 sind de - 2r sind order de + en sind + r and sep2 + 2 r sup orderet  $= \alpha r^2 + r^2 d\phi^2$ So  $dx^{2} + dy^{2} + dz^{2} = dr^{2} + r^{2} dz^{2} + dz^{2} = dz^{2}$  $aun \frac{dl^2}{dt^2} = r^2 + r^2 \theta + \frac{2}{2}$ Similarly it is easy to prove with x=rcoppind, y=rsind sind, 2=rood  $dl^2 = dr^2 + r^2 d\theta^2 + r^2 rin \theta d\phi^2$ , etc.